Additional file 2:
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value has been determined as follows:
1) First derivative of Richards equation:
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therefore:
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2) Second derivative of Richards equation:
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therefore:
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and finally:
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3) Determination of abscisse of inflexion point (xflex):
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next:

[image: image8.wmf]ln

flex

xcbd

=+


4) Determination of ordinate in xflex:
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therefore:
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and finally:
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5) Determination of the slope of tangent strait-line (m) crossing the inflection point:

m =
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therefore:
m =
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the tangent straight-line equation in flex point is:
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intersection point (Cy0) between abscise axis and tangent straight-line is:
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from which:
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next:
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and finally:
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